.11

.¥/€ 911 Ge¥

474 [18 3/4"]1

120 [4 3/4"1]

“]

=

| =Ir-a

120 [4 3/

S

/€ ¥1 021

742 [29 1/4']

L.¥/€ [11 0S¥

742 [29 1/4“]

Iy ___u

59

L.¥y/€ L11 0S¥

L.v/€ 811 ¥.L¥

Page 1 of 1



AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
2


